

$$V = \frac{4}{t} \rightarrow d = vt$$

$$U = \frac{4}{t} \rightarrow d = vt$$

$$U = \frac{1}{t} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more minutes than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Lia's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Meghan's distance}}} = \frac{10 \text{ more than Meghan's distance}}{2 \text{ Lia's distance}}}$$